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1. Answer the followmg questions as
directed : . 1x7=7

- (@) The first part of a LaTeX document
- where document-wide definitions are
written are called

(Fill in the blank)

b)) LaTeX command is used to
.dlsplay text in bold face.

(Ftll in the blank)
Cantd.



(¢) " In LaTeX, a tabbiﬁg ehvironment is ' 3. 'Answer any three of the following

used to create tables, ' questions : ‘ - 5x3=15

‘ (State True or Fqlée) : .~ (a) Give brief description of beamer class.

(d) The . amsmath package offers L ' (b) How are new commands defined in
?Reclallzed environment for writing - : ‘ LaTeX ? Explain with example. '

e R (Stqte True or False) () Write a Scilab code.to display the roots
(e) < Scilab is an interpreted language. of a quadratic equation.
- (State True or False) - (d) Write brief introduction of any five
() In Scilab, - functioﬁ s used R . ~ functions of Scilab used in linear

to create an identity matrix. glgebra_ and data plotting.

: (Fill in the blank) (e) Prepare a list of binary operators
' gt . B ' recognized by Python ‘and write their
@ A Python string is mutapje. ) , operirtlions, i .

(Stat¢ True or False)

2. Answer the following queSﬁons,; '2><4=8 4. Answer any two of the following -

questions : 10x2=20
(@) How to control pafagraph break and (@) Write LaTeX commands to display the
.page break in LaTex ?- : ' ' following formulas :

(b) I-_Iow to t_:r'e'afce Bulleted lists in LaTeX ?

(c) Write any two functions used to manage

compl¢x Numbers in’ Scilab, - o | @) 9% - T —= {—'_JI |
@ Write a for’ statement in Scilab to T : ' -

. d’
Isplay the values from ltos = - . - (iti) ZX =X +X3 + X3

() x2+xd=1
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() P(AUB)=P(a)+ P(B)- P(AN B)

—biw}b2f4ac ’

2a

vy x=

(b) Write a Scilab program to display odd
- - numbers between 500 and 700 and
- even numbers between 200 and 350.

(/0 What are Python’s technical .
strengths ? Explain.

- (d) " Write short notes on : (any two)
i () Amssymb . _
(i) Predefined constants of Scilab

(i) Comparison of Scilab with -
MATLAB

(iv). Conditional statements in Scilab
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